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Chapter 7: 7-6 The Inverse Trigonometric Functions
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1. (a) sin™ (-?) (c) tand (—V3)

(b) cos(=3) I
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2. (a) arcsin (7) (b) arccos— =
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(b) cos™ =
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4. (a) sin[arcsin(—%)] (b) cos (arccos i) (c) tan (arctan 14)
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5. (a) sin‘l(sin-g’f)

(b) cos™ [cos (5?”)] (c) tan™® [tan(— g)] k\ | \
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6. (a) arcsin (sin —) 3 I T3 (b) arccos (cos —4—) (c) arctan (tan T)\‘: I l !
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7. {a) sin [cos*(—-:-)] (b) cos (tan™ 1) (c) tan [sin (-1)]
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8. (a) cot (sin™ g) -4 I - (b) sec [tan (—-—)]_ 5 (c) csc[cos™ (—i—)]
’ 5
Mé@ 09509. a5
A B d\
9. (a) sin (arcsin1+arccos 0) (b) cos [arctan(——) arcsin -) (c) tan (arctan + arccos -—)
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Write the expression as an algebraic expression in x for x >0. V(74
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11. sin (tan™ x) 12. sin (2 sin’ x) 13. cos (E arccos x)
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